AR ALy Y K AL B 5

KBTS R— T3

(SERK 3 0 4F-BE)

O —RBEFEM Ay (DEEE) 7 HARLER fEER
5 A x5y ==Xy gﬁg 4B108|5818|6A58|7838|8A7H|9A11R|108168|11A6A|1284R| 1A8A|2A5A|3A5A
Bk BEZ - - 9:50 | 9:45]9:50 | 9:40 | 9:35]9:40 | 9:35[ 9:40 ] 9:37 ] 9:35 9:28 | 9:31
KR C - J16.1 ]19.0 [22.3 [27.1 130.3 [28.5 [19.5 |23.1 |18.5 [ 7.8 | 7.9 |12.2
PH pH [5.8-8.6] 7.6 | 7.3 7.3 | 7.4 | 7.3 | 7.3 70| 72| 76| 7.2]6.9] 7.6
BOD mg/0 60 J<0.5] 0.7]06|<.5]07] 141207 10fo07]o08]07
COD mg/0 90 0908 1.7]20f32]16]17|22]<.5] 05| 09|06
SS mg/0 60 <1 <1 <1 <1 <1 1 <1 2 <1 <1 <1 <1
N TR /e | (3,0000f <30 | <30 | <30 | <30 | <30 [ <30 | <30 | <30 [ <30 | <30 | <30 | <30
EROA R mg/0 | 120 | 3.5 27 33| 252837202427 24]25]26
wxem (AMEY) | me/o [ 60) | 3.6 29 3.3 303237 1326|2824 27] 28
TrE=TMHESR | ng/ % 0.5] 0.2 03] 0.3[<0.1[<0.1[<0.1[<0.1] 0.2] 0.3]<0.1] 0.2
BRIy LROEOREm| mg/0 | 0.03 — — |<0.005| — — — — — |<0.005| — — —
7 ALEW mg/ 0 1 — — |<o.1| — — — — — |<o.1| — — —
FHREY AW | me/e 1 -1 — <1l =T -1 -1 -1 - T<1] =T -1 -
AR OZEDOIEY | me/0 | 0.1 — — [<o0.02] — — — — — |<o0.02] — — —
fLNE 7 B b G| me/0 | 0.5 | — — |<0.04] — — — — — |<0.04] — — -
E R LR OEOIEY]| mg/0 | 0.1 — — |<0.01] — — — — — [<o0.01] — — —
TRk ER me/0 | 0.005 | — — |<0.0005] — — — — — [<0.0005] — - -
TFIVKEILEY| meg/0 nd — — [<0.0005] — — — — — |<0.0005] — — —
PCB mg/0 | 0.003 — — |<0.0005| — — — — —  |<0.0005] — — —
sy oitpEa Ak | mg/0 30 — — | <0.5| — — — — — | <0.5| — — —
Tz /) —VEERE| mg/l 5 — — |<0.025] — — — — — J<0.025] — — —
i A = me/0 3 - — |<o.01] — — — — — |<o0.01] — - —
e A & mg/ 0 -1 —loo2] = -1 -1 -1 - TJoos] = -1 -
TRRIESR A& | me/0 10 - — ot | — - - - — <. 1| — - -
P~ o amik| meo | 10 | — | — (<01 — | =1 - — | — <01 — | - | -
=N R, mg/0 2 — — |<0.04] — — — — — |<o0.04] — — —
SoH#BOEOAY | me/b 8 — —lo2] — — — — — lo3] — — —
) UERE mg/0 16 — — lo.02 | — — — — — Jo.o1 | — — —
VoafaE (ARTEE) | me/o (8) - — Jo.01 | — — — — — ]0.01 | — — —
FUVZauexF L | mg/l 0.1 — — |<o0.002| — — — — — — — — —
FhormozFLo| mg/o 0.1 — — |<o0.001] — — — — — — — — —
/A== % mg/0 | 0.2 — — |<0.02] — — — — — — — — —
PUEAb R 35 me/0 | 0.02 — — [<0.002] — — — — — — — — —
i 1.2—Y7uvoxZ| mg/0 | 0.04 — — |ko.004f — — — — — — — — —
L1-Ys7uoxFry| me/o 1 — — |<0.02] — — — — — — — — —
vA-l2-vranzsry | g/ 0.4 — — <0.04] — - — — — — — — —
LLl=RVzmrur=f| mg/l 3 - — [ko.001] — — — — — — — — —
Li2—hVzma=s| mg/Q | 0.06 | — — [<0.006] — — — — — — — — —
L3—Yzuruaruar| mg/0 | 0.02 - — [<0.002] — - - — — - - - —
F 7L mg/0 | 0.06 | — — [<0.008] — — — — — — — — —
DA mg/0 | 003 — | — |woo3f — | — -1 —-—| - - -1 —-1| —
FAXANT | mg/e | 0.2 | — | — o] - -] - - - - - -1 —
N mg/0 [ 0.1 ] — | — (<0t — | —| - | - | —| —| —| —| —
LU ROZEOREY | mg/0 0.1 - — |<0.01] — — — — — — — — —
R - RS A | me/0 * — — |31 — — — — — — — — —
EEET A AR 10 — — <1 — — — — — — — — —
14— FF% > | meg/0 | 0.5 — — [<0.05] — — — — — — — — —
HALXT U HH E%/Q 10 — — Jo.00015 | — — — — — — — — —

X ORHIRME S R IRIE + IR EERIRE + (7 =T =

()L ARSI
X MU 7o Lo OPERERET, k2849 15H L V0. 3mg/00>50. lmg/QTEE & 7257,
X RI U AROZEOLEYMOPKRIERET, Fak284-3 A 150 £ V0. Img/00>50. 03mg/QICE T & 7e o7z,

FIBE X0.4) 73100meg/0LL F




ALy 4 S T 7K
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IKEHTRER— B3R

(ERk 3 0 4F%)

MEFEIMAAEMS PSR EEL S
(B« No. 1)+« - HESTAL 3 5 AR (PR & H 22 9 m)
(R : No. 2) -+ - HESZAL 3 S P IS (PR S B %2 7 m)

QF=xY o IHF
QF=%V THFA

« B3R No. 1H& (D& mEE)

15 H 2 Wipr |sueis|4m13a(5A18E|6A14B(7A128| 8A9E [9A 198|108 108(114218|128188[ 18108 |2A 1283813
7K IR T — 1 16.9(17.2 (17.2 |16.9 |18.8 |18.0 [17.0 |17.1 |16.5 |16.0 |14.8 |16.3
XU R ms/m| — | 54 [ 30 |20 [20 |41 |26 |41 |37 |37 [39 |39 |31
WA A meg/0f — 19 | 12 | 13 5 15 |15 |13 |19 |20 |18 |19 | 15
TIVFILIKER mg/0| nd | — —  |<0. 0005 — - — — _ _ _ _
FaK R mg/0 fo.0005 | — — |<0. 0005 — — — — - — _ _
HRIT L mg/0 |0.003] — — |<0. 0003 — - — — _ _ _ _
#n mg/0]0.01] — | — [<0.005 = =1 =1 =1=1=1=
A A=A mg/0|0.05] — | — [<o0.01 = = == -=-1-1-
== mg/0f0.01] — | — [<0.005 === =1=1=1=
LTV mg/0| nd | — — | <o0.1 - — — — — — _ _
PCB mg/0| nd — — |<0.0005] — — — — - — — — _
[NEZA=1= ==ty 2l ¥V mg/0|0.01] — — [<0.001] — — — — — - — _ _
T hrZ77uvpxF L2 [mg/0f0.01] — — [<0.0005] — — - — — _ _ _ _
DA A= mg/e]o.02l — | — [0 — | - - - - - - - | -
Wik ier &S mg/0 [0.002) — — [<0.0002] — — — — _ _ _ _ _
l.2—Y7maax#y |mg/0]o.004] — — |<0.0004] — — — — — _ _ _ _
lL1—-Ys7uouox=FL | mg/e|o1] — — |<o0.002 — — — - — _ _ _
l.2—Y7muoxF L |mg/0f0.04] — — |<0.004 — — — - — _ _ _
LL1I-hYVZsmmrxX> |mg/0| 1.0] — — |<0. 0005 — — - — — — _ _
.LI.2— hNYZmm=xX > | mg/0|0.006] — — |<o0. 0006 — — - — _ — _ _
1.3—Y7muara~X | mg/ofo.002] — — |<0. 0002 — — - — _ _ _ _
FU 7 A mg/0 |0.006] — —  |<0. 0006 — - — _ _ _ _ _
DA mg/0 [0.003) — — [<0.0003] — — - — — _ _ _ _
FARTINT mg/elo.02l — | — [0 = - - - - - - - | -
NRUB mg/0|0.01] — — |<0.001] — — — — — — — _ _
L mg/00.01] — — [<0.002] — — — — - — _ _ _
1. A=V FFH% mg/00.05] — | — f<.00sf — [ - - - - - - —| —
=R o P me/0 |0.002) — — [<0.0002] — — — - — _ — _ _
FAAx V¥ ?Eg}/@ Lol — | — o009 =l =1 =1=1=1=1 =

X RNY oo F Lok, k2889 15H X 0 0. 03mg/07>50. 0lmg/QUTEE & /oo 7-,
X R LAROFEOEYMOPKIERET, FRk2843H 150 £ V0. 01mg/00>50. 003mg/QIZE T & 7257z,




« Ty No. 2 (1 & EE)

E2 0 N
A BT [#m|4m138]|58188|6A14B|7A128| 8A9H |9A 198108108 114218 12A186| 1A 108| 28 12H| 38136
7K C 16.4117.8 [18.1 ]19.2 [21.2 |21.0 [22.0 [19.5 |16.2 |15.3 |16.8 |17.2
CEEYE RS ms/m 51 |26 |39 |34 |58 |36 |34 |52 |60 |63 |54 | 34
B A A mg/0 73 |16 [ 28 |19 [50 [17 [24 |53 [ 70 [52 [40 | 15
T IV L IKER mg/0| nd | — — |<0.0005] — - - — — — — — —
Rk ER mg/0 [o0.0005 | — — |<0.0005] — — — — _ _ _ _ _
BRI A mg/0 [0.003] — — |<0.0003] — — — — — — — — —
g me/ofo.otl — | = lwoos| — | = | = | = - - -~ -
a7 = mg/0[0.05) — | — [<0.01] — [ — | — [ — -1 -1 -1 -1 -
b mg/0fo.ot] — | — <o) — | = - |- - -1 - | -
BT mg/0| nd | — — |<0.1| — — — — — - - — —
PCB mg/0 | nd — — |<o0.0005| — — — — — — — — —
N zmamrxzFL mg/0 [0.01] — — [<0.001] — - - — — — — — —
T hrZ77uvx=F L2 [mg/0|0.01] — — |<0.0005] — — — — — _ _ _ _
vuau Ay mg/0 [0.02] — — |<0.002] — - — — — — — — —
AR mg/0 |0.002] — — |<0.0002] — - — — _ _ _ _ _
l.2—YZ7mux# |neg/0]o.004] — — |<0.0001] — — — — - - — — —
lL1—-YZmaxF L mg/e|o1] — — |<0.002| — — — — — — — — —
l.2—Y7mauaxd L |mg/00.04] — — |<0.004] — — — — — — — — —
L1.1-=FYVZwmoxzZ (mg/0|1.0] — — |<0.0005] — — — — — - — — —
L.L1.2— R U Zwvwm=x& | mg/0|0.006] — — |<0.0006| — — — — — — — — —
1.3—>yZ7uaua a2 | ng/0]0.002] — — |<0.0002] — — — — — — — — —
FUT A mg/0 |0.006] — — |<0.0006] — — — — — — — — —
DA VA4 mg/0 |0.003] — — [<o0.0003] — — — — — - - — —
FARXINT mg/0 [0.02] — — |<0.002] — — - - — — — — —
By mg/00.01] — — [<0.001] — — — — — - — — —
LV meg/0]0.01] — — [<0.002] — — — - — — - — —
1. 4= FFH mg/0|0.05} — | — <005 — | = | = | |-} —-| - - —
JuoaxF L mg/0 [0.002] — — |<0.0002] — — — — — — — — —
HA XM ?%&/2 Lol = | —looss| — | - | - | - | - | - | - | - | -

K hUZuooxF Lok ERT, FRk28F9H 150 X 1 0. 03mg/07>50. 0lmg/QIZZEF & 7po 7=,
XKH R I LRRZEDEY O KREAEL, Eak284E3H15H X 9 0. 01mg/02>50. 003mg/QICZEH & 72 57~




	口苔（新埋立）

